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Abstract

Nowadays, most industries take 60 quality level as a goal of the ultimate quality level of their
products. On the other hand, B, life indicates the time that 10% of products are failed. There
is no relation between the 60 quality level and the B ,; life. Therefore, some industries perform

their quality control activities and reliability engineering activities separately. So I propose one
measure which can express quality and reliability level simultaneously for the products to pursue
quality and reliability activities together in the industry.
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